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P R E S E N T  S I M P L E WITH TO  B E



N E G A T I V E

[ Exercise 1 ]

Complete the gaps with the negative forms of the verb to be

(am not, is not, are not).

Example:
She   a teacher.

Answer:
She isn’t a teacher.

1. They   with us. (not / to be)

2. Jane   a painter. (not / to be)

3. He   from Canada. (not / to be)

4. I   your friend. (not / to be)

5. It   hot. (not / to be)

6. My friends   sad. (not / to be)

7. Pictures   on the wall. (not / to be)

8. I   old. (not / to be)

9. People   rude. (not / to be)

10. My book   on the shelf. (not / to be)

11. My brother   at home. (not / to be)

12. I   from Germany. (not / to be)

13. His wife   doctor. (not / to be)
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14. Workers   at the office. (not / to be)

15. The weather   fine. (not / to be)
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A N S W E R S

1. are not.

2. is not.

3. is not.

4. am not.

5. is not.

6. are not.

7. are not.

8. am not.

9. are not.

10. is not.

11. is not.

12. am not.

13. is not.

14. are not.

15. is not.
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